‘fo@
Docks & Lifts

MANUFACTURER SALES

ASSEMBLY INSTRUCTIONS

For All Size of Canopies




Canopy Precautions
1. When taking out the lift for the winter or for any other reason make sure that you

take the canvas cover off the canopy first. This reduces the weight of the lift considerably,
making it easier to remove the lift.

2. Remove the canopy if the boat is going to be off the lift for a long period of time.
This is so wind does not lift the canopy and lift out of the water in the course of a storm.

3. Remove the canopy cover in the winter to prevent snow build- up and strong winter
winds from damaging the lift and canopy.

4. Never climb on or around the canopy frame. The frame is not designed for a large
amount of excess weight.

5. Dry off the canopy cover before storing in the winter season and store in a warm
dry place.

6. When cleaning the canopy cover use soft soap or any other water soluble solution,
Never use chemicals on the canopy cover, chemicals can damage the fabric of the cover.



Procedure 1

(Step 1)  Large canopy- Insert the two large canopy brackets into the two up
right posts on the end of the lift facing shore and the two small canopy brackets into the
end of the lift facing the lake. '

Smalt canopy- Insert the four canopy brackets into the up right posts of
the lift on all four courners.
***When inserting the canopy bracket on the same up- right post as the winch sits
on, be sure to remove the winch and the bolts. Before removing the winch lower the
platform and remove the load. Now you are ready to insert the canopy brackets.
Once the brackets are in and at the desired height put the bolts back through and
mount the winch back on.***

(Step 2)  Adjust the bracket to the desired height so that the boat sits inside the
canopy when completly raised, but is still able to fit underneath the canopy when lowered.
Then use the 3/8" x 3" bolts to fasten to the desired height on the small canopy brackets
and 3/8" x 4" bolts on the large canopy brackets.

-]
Q0 ©0 @0 00 0O O o

O Step 1




Procedure 2

(Step3) Now place a left quarter section and a right quarter section next to each

other and fasten together using 3/8" x 2 1/2" bolts as shown in the diagram. Do this to
both ends.

(Step 4)  Using two 3/8" x 2 1/2" bolts, bolt the two holed reinforcement plates to
the connection point shown in the diagram. After the two halves have been assembled,
take each half and slip them into the canopy brackets. Using the 3/8" x 3" bolts, bolt the
canopy halves into place on the canopy brackets.

Step 3




Procedure 3

(Step 5)  Now bolt the two halves together in the middle while the canopy is on the
lift using 3/8" x 2 1/2" bolts.

(Step 6)  Using four 3/8" x 2 1/2" bolts, bolt the four holed reinforcement plates to

the connection points as shown on the diagram. When this is done unfold the canvas
cover onto the canopy frame.




Proceduie 4

(Step 7)  Afler the canvas has been folded out onto the canopy frame begin stringing
the mibber bungy cord through the brass grommets starting from one of the corners, as
shown in "figure A", When the rubber cord has been strung all the way around the

canopy, making sure tha’ the cord has been kept tight, tie the two ends together.
(Step 8)  Now takn the hooks, and with one end connect the rubber cord facing on

the tnside of the canopy and stretch it up to connect the other end, of the hook, to the

aluminum rod on the caropy frame. continue this step all the way around the canopy.

*** Use hooks inside frame in place of old "S” hooks ***




Assessory
Canopy Brace

(Step 1)  To mount the canopy brace, first remove the top nut and washer of the U-
bolt, as shown in figure A. Using the canopy brace end with the angled aluminum
bracket, slip the angle on to the U-bolt and tighten with the nut and washer.

(Step 2) Using the canopy brace end with the cradle, slip the cradle up on to the
canopy frame, as shown in figure B. Insert 3/8” x 3” bolt and tighten.

N D

( Step 2)

Figure A




Docks & Lifts

MANUFACTURER SALES

Product Warranty

Vibo Marine warrants all equipment purchased new by original owner, to be
free of defects in the materials and workmanship under normal use from the
date of purchase for the period of time set below.

New Vibo Marine aluminum docks and lifts carry a 10 year conditional warranty
on all aluminum, aluminum welds and workmanship.

Vibo Marine further warrants all other parts used on Vibo lifts, docks and
accessories, purchased new by original owner, to be free from defects in
the materials and workmanship under normal use from the date of purchase
for 24 months (excluding components and options which carry their own
manufacturer’s warranty, wherein that warranty will apply.) Excluded from
this warranty are parts, such as hardware, pulleys, and cable accessories that
wear from normal use. There is no other express warranty. Vibo Marine is not
liable for incidental or consequential damages or injuries of any kind due to
installation, removal, use, misuse, snow or ice, electrolysis, severe weather,
acts of God, misapplication, or improper selection of one of our purchased
or displayed products. Vibo Marine agrees to repair or replace only defective
parts returned to the factory (shipping costs paid by the customer) and
deemed defective by Vibo Marine. Warranty is void when misuse or neglect
is the cause.

Vibo Marine is not responsible for removal, dismantling or re-installation cost.
This warranty is void if the boat lift or dock is used in other than normal
residential service, or installed in salt water.

Vibo Marine warrants canopy covers from the date of purchase for 1 year, to
be free of defects in materials and workmanship under normal use. Fading of
cover, misuse, snow or ice, severe weather and acts of God are excluded from
the warranty.

All returns must be made to Vibo Marine within 30 days from date of purchase.
All returns must be in new condition and deemed in new condition by Vibo
Marine. Vibo Marine does not accept returned electrical equipment for refund
or exchange. All other returnable parts or products are subject to a 15%
restocking charge.

Vibo Marine warranty does not cover O.EM. manufactured products. Most
manufacturer’s have their own warranty time periods.

The cargo net accessory is NOT intended for human use. Misuse may result in
injury.

Stub axles are only intended for moving lift NOT to hold lift and vessel weight
permanently. There is a 250 Ib. maximum weight per axle.

All decking is warranted from the date of purchase for 1year.

Vibo Marine warrants all lift wheel kits to be free of defects in the materials
and workmanship under normal use from the date of purchase for 1year.
Warranty is non-transferable.

Prices and specifications subject to change without notice.

Aluminum Docks & Boat Lifts

(651)674-2383 | 1-888-698-2300 | www.vibomarine.com



